








  001001001
+ 010101110
      1      
-----------
= 011110111

  011010111
– 010101110
    1 1      
-----------
= 000101001

101001 x 1001
-------------
       101001
      000000
     000000
    101001
        1     
-------------
    101110001



A 00001 H 01000 O 01111 V 10110
B 00010 I 01001 P 10000 W 10111 00000
C 00011 J 01010 Q 10001 X 11000 11011
D 00100 K 01011 R 10010 Y 11001 11100
E 00101 L 01100 S 10011 Z 11010 11101
F 00110 M 01101 T 10100 11110
G 00111 N 01110 U 10101 11111



!"#$%&\'()*+,-./:;<=>?@[\]^_`{|}~

 32          48   0      64   @      80   P      96   `     112   p
 33   !      49   1      65   A      81   Q      97   a     113   q
 34   "      50   2      66   B      82   R      98   b     114   r
 35   #      51   3      67   C      83   S      99   c     115   s
 36   $      52   4      68   D      84   T     100   d     116   t
 37   %      53   5      69   E      85   U     101   e     117   u
 38   &      54   6      70   F      86   V     102   f     118   v
 39   '      55   7      71   G      87   W     103   g     119   w
 40   (      56   8      72   H      88   X     104   h     120   x
 41   )      57   9      73   I      89   Y     105   i     121   y
 42   *      58   :      74   J      90   Z     106   j     122   z
 43   +      59   ;      75   K      91   [     107   k     123   {
 44   ,      60   <      76   L      92   \     108   l     124   |
 45   -      61   =      77   M      93   ]     109   m     125   }
 46   .      62   >      78   N      94   ^     110   n     126   ~
 47   /      63   ?      79   O      95   _     111   o     127



0 0 0 12
1 1 1 13
2 2 10 14
3 3 11 15
4 4 100 16
5 5 101 ...
6 6 110 63
7 7 111 64

8 65
9 66
10 67
11 68

14 1100
15 1101
16 1110
17 1111

20 10000

77 111111
100 1000000

10 1000 101 1000001
11 1001 102 1000010
12 1010 103 1000011
13 1011 104 1000100

0 0 0 16 32
1 1 1 17 33
2 2 10 18 34
3 3 11 19 35
4 4 100 20 36
5 5 101 21 37
6 6 110 22 38
7 7 111 23 39
8 8 1000 24 ...
9 9 1001 25 255
A 10 1010 26 256
B 11 1011 27 257
C 12 1100 28 258
D 13 1101 29 ...
E 14 1110 30 4095
F 15 1111 31 4096

10 10000 20 100000
11 10001 21 100001
12 10010 22 100010
13 10011 23 100011
14 10100 24 100100
15 10101 25 100101
16 10110 26 100110
17 10111 27 100111
18 11000
19 11001 FF 11111111
1A 11010 100 100000000
1B 11011 101 100000001
1C 11100 102 100000010
1D 11101
1E 11110 FFF 111111111111
1F 11111 1000 1000000000000





hex dez hex dez hex dez hex dez hex dez hex dez hex dez hex dez hex dez
00  0 10 16 20 32 30 48 40 64 50 80 60 96 70 112 F0 240
01  1 11 17 21 33 31 49 41 65 51 81 61 97 71 113 F1 241
02  2 12 18 22 34 32 50 42 66 52 82 62 98 72 114 F2 242
03  3 13 19 23 35 33 51 43 67 53 83 63 99 73 115 F3 243
04  4 14 20 24 36 34 52 44 68 54 84 64 100 74 116 F4 244
05  5 15 21 25 37 35 53 45 69 55 85 65 101 75 117 F5 245
06  6 16 22 26 38 36 54 46 70 56 86 66 102 76 118 ... F6 246
07  7 17 23 27 39 37 55 47 71 57 87 67 103 77 119 F7 247
08  8 18 24 28 40 38 56 48 72 58 88 68 104 78 120 F8 248
09  9 19 25 29 41 39 57 49 73 59 89 69 105 79 121 F9 249
0A 10 1A 26 2A 42 3A 58 4A 74 5A 90 6A 106 7A 122 FA 250
0B 11 1B 27 2B 43 3B 59 4B 75 5B 91 6B 107 7B 123 FB 251
0C 12 1C 28 2C 44 3C 60 4C 76 5C 92 6C 108 7C 124 FC 252
0D 13 1D 29 2D 45 3D 61 4D 77 5D 93 6D 109 7D 125 FD 253
0E 14 1E 30 2E 46 3E 62 4E 78 5E 94 6E 110 7E 126 FE 254
0F 15 1F 31 2F 47 3F 63 4F 79 5F 95 6F 111 7F 127 FF 255



Infrastruktur



Name (Symbol) SI-konforme Bedeutung1) „klassische“ Bedeutung Unterschied

Kilobyte (kB) 103 Byte =
1.000 Byte

210 Byte = 1.024 Byte 2,4 %

Megabyte (MB) 106 Byte = 
1.000.000 Byte

220 Byte = 1.048.576 Byte 4,9 %

Gigabyte (GB) 109 Byte = 
1.000.000.000 Byte

230 Byte = 1.073.741.824 Byte 7,4 %

Terabyte (TB) 1012 Byte = 
1.000.000.000.000 Byte

240 Byte = 1.099.511.627.776 Byte 10,0 %

Petabyte (PB) 1015 Byte = 
1.000.000.000.000.000 Byte

250 Byte = 
1.125.899.906.842.624 Byte

12,6 %

Exabyte (EB) 1018 Byte = 
1.000.000.000.000.000.000 Byte

260 Byte = 
1.152.921.504.606.846.976 Byte

15,3 %

Zettabyte (ZB) 1021 Byte = 
1.000.000.000.000.000.000.000 Byte

270 Byte = 
1.180.591.620.717.411.303.424 Byte

18,1 %







A 65 01000001 gerade
B 66 01000010 gerade
C 67 01000011 ungerade
D 68 01000100 gerade
E 69 01000101 ungerade

01000001
01000010
11000011
01000100
11000101

 65  A
 66  B
 67  C
 68  D
 69  E
 70  F
 71  G
 72  H
 73  I
 74  J
 75  K
 76  L
 77  M
 78  N
 79  O
 80  P
 81  Q
 82  R
 83  S
 84  T
 85  U
 86  V
 87  W
 88  X
 89  Y
 90  Z

 97  a
 98  b
 99  c
100  d
101  e
102  f
103  g
104  h
105  i
106  j
107  k
108  l
109  m
110  n
111  o
112  p
113  q
114  r
115  s
116  t
117  u
118  v
119  w
120  x
121  y
122  z








